Maytag MFR18MCAAS 08 - BASKET & OUTER SHELL ASSY. (SERIES 10)

M

TUR
ABGRRERLY
ICOMPLETES

aytag Residential Maytag MER18MCAAS Washer Parts Parts Diagram 08 - BASKET & OUTER SHELL ASSY.

Item

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016

Original Part Number

NLA

23001377
23001379
23001381
NLA

NLA

23001386
23001200
23001201
23001388
23001265
23001306
23001389
23001177
23001204
23001088

Replaced By

23003747

23003354

23002473

(SERIES 10)

Click on the part number to view part

Status
Not Available

Not Available
Not Available

Part Description
TUB (COMPLETE)
Drum/Shaft

Shell

Plate, Back

RING, CLAMP (12 HOLES)
SHIELD

Gasket, Shell
Hinge, Mirco Switch
Washer

Bolt

Washer

Nut, Self Locking
Bolt

Screw

Washer, Finishing

Rubber, Protective


http://www.pwslaundry.com/c-504134-residential-maytag-mfr18mcaas-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10404539-maytag-23003747-washer-drum-shaft.html
http://www.pwslaundry.com/i-10401769-maytag-23001379-washer-shell.html
http://www.pwslaundry.com/i-10406361-maytag-23001381-washer-plate-back.html
http://www.pwslaundry.com/i-10401770-maytag-23001386-washer-gasket-shell.html
http://www.pwslaundry.com/i-10404053-maytag-23001200-washer-hinge-mirco-switch.html
http://www.pwslaundry.com/i-10404054-maytag-23001201-washer-washer.html
http://www.pwslaundry.com/i-10404055-maytag-23001388-washer-bolt.html
http://www.pwslaundry.com/i-10401756-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-10401530-maytag-23001306-washer-nut-self-locking.html
http://www.pwslaundry.com/i-10404070-maytag-23003354-washer-bolt.html
http://www.pwslaundry.com/i-10406362-maytag-23001177-washer-screw.html
http://www.pwslaundry.com/i-10404056-maytag-23001204-washer-washer-finishing.html
http://www.pwslaundry.com/i-10404543-maytag-23002473-washer-rubber-protective.html

017 23001304 23003765 Bolt M8x35

019 23001055 23001014 Nut M4

laundry company*

laundry company*

laundry company*


http://www.pwslaundry.com/i-10404537-maytag-23003765-washer-bolt-m8x35.html
http://www.pwslaundry.com/i-10404057-maytag-23001089-washer-screw.html
http://www.pwslaundry.com/i-10404471-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-10404058-maytag-23001206-washer-bracket-motor-harness.html

	Maytag MFR18MCAAS 08 - BASKET & OUTER SHELL ASSY. (SERIES 10)

